Diagnostic Mobile
Workcenter

Instructions

EAZO0149L05A Rev. A



Contact Information (North America)

Website

Snap-on Diagnostics and Information
e http://diagnostics.snapon.com

Manuals / Technical Documentation (all diagnostic tools) - The information in this document may be
periodically revised to ensure the latest information is included. Download the latest version of this document and
diagnostic tool user manuals at:

e http://diagnostics.snapon.com/usermanuals

Customer Care and Technical Assistance - Phone / E- mail

1-800-424-7226 / diagnostics_support@snapon.com

Disclaimer of Warranties and Limitation of Liabilities

All pictures and illustrations shown are for reference purposes only. All information, specifications and illustrations in
this document are based on the latest information available at the time of printing and are subject to change without
notice. While the authors have taken due care in the preparation of this manual, nothing contained herein:

¢ Modifies or alters in any way the standard terms and conditions of the purchase, under the terms of which the
equipment to which this document relates was acquired.

* Increases in any way the liability to the customer or to third parties.

Snap-on® reserves the right to make changes at any time without notice.

IMPORTANT:
Before assembling, operating or maintaining this product, please read this document and the diagnostic tool user
and Important Safety Information manuals carefully paying extra attention to the safety warnings and precautions.

Patent Information

For a listing of Snap-on products that are protected by patents in the United States and elsewhere,
visit: https://patents.snapon.com

Copyright Information
© 2022 Snap-on Incorporated. All rights reserved.

EAZ0149L05A Rev. A 31-E-22



Important Safety Instructions

READ, UNDERSTAND and FOLLOW ALL SAFETY
INFORMATION located on the safety labels affixed to
the Diagnostic Mobile Workcenter.

Read All Instructions Before
Assembly and Use

For your own safety, the safety of others, and to
prevent damage to the product and vehicles upon
which itis used, it is important that all instructions and
safety messages in this manual be read and
understood by all persons operating, or coming into
contact with the product, before operating. We
suggest you store a copy of this manual near the
product in sight of the operator.

This product is intended for use by properly trained
and skilled professional automotive technicians. The
safety messages presented throughout this manual
are reminders to the operator to exercise extreme
care when using this product.

All information, specifications and illustrations in this
manual are based on the latest information available
at the time of printing and are subject to change
without notice. Snap-on Inc. reserves the right to
make changes at any time without notice.

Safety Signal Words

All safety messages contain a safety signal word that
indicates the level of the hazard. An icon, when
present, gives a graphical description of the hazard.
Safety Signal words are:

A DANGER

Indicates an imminently hazardous situation which, if
not avoided, will result in death or serious injury to the
operator or to bystanders.

/\ WARNING

Indicates a potentially hazardous situation which, if
not avoided, could result in death or serious injury to
the operator or to bystanders.

/\ CAUTION

Indicates a potentially hazardous situation which, if
not avoided, may result in moderate or minor injury to
the operator or to bystanders.

Safety Message Conventions

Safety messages are provided to help prevent
personal injury and equipment damage. Safety
messages communicate the hazard, hazard
avoidance and possible consequences using three
different type styles:

* Normal type states the hazard.

* Bold type states how to avoid the hazard.

« [talic type states the possible consequences of not
avoiding the hazard.

An icon, when present, gives a graphical description
of the potential hazard.

Safety Messages

/\ WARNING

Risk of Personal Injury

» Before operating read the following safety
information.
* Keep children away.

Improper equipment use can cause personal injury.

/\ WARNING

Risk of Personal Injury and Equipment Damage -
Tipping Hazards

* Do not use on uneven, rough, wet or slippery
floors.

* Avoid using the unit near heavy moving
equipment that could hit the cart and tip it over.

* Do not climb, sit or stand on the unit.

* Do not lift unit.

¢ Do not move, or roll the unit in a unsafe manner.
Only move/roll at a slow controlled pace.

* Do not move the unit if the casters are damaged
or not working properly. Replace damaged
casters before operation.

* Do not pull any items (tools, cables, etc.) that
are hanging from the unit that could catch or
hook something and pull the cart over.

* Do not open more than one loaded drawer at a
time.

* Close and lock drawers before moving.

* Apply brakes on locking casters when unit is
stationary.

* If unit begins to tip, stand clear

* Do not open any drawer with swivel caster
positioned inward

* Do not step in or on drawers

* Do not use any open drawer as support or
leverage

* Do not attach items, tools, machinery, etc to the
unit.

* Disconnect or unplug all power cord and cable
assemblies before moving unit.

Tipping over of the unit, or the unit striking you can
cause personal injury and equipment damage.



/N\ WARNING

A

Risk of Personal Injury - Tripping Hazards

* Disconnect or unplug all power cords and
diagnostic tool cables before moving the unit.

* Shut all drawers when not in use.

* Do not hang items, cables, tools, from the unit
that could catch or entangle you or someone
else.

* Be aware or your surroundings when the unit's
power cable is connected to a receptacle, and
when cables are connected between the unit,
diagnostic tool and vehicle.

* Be sure that the power cord and any cables
attached to your tools, equipment, and other
accessories are routed so as not to interfere
with walk paths, and will not be tripped over or
pulled.

* Ensure all cables are secured and routed in a
manner, avoiding excessive slack/looping. Use
cable ties as needed.

Tripping over the unit or cables can cause personal

injury.

/A\WARNING

TN
A\

Risk of Electric Shock and Fire.

e Connect the power strip to a single receptacle
only, do not overload the MAINS circuit.

* Do not remove the ground connection from the
power cord. The power cord must be connected
to 110VAC 60hz grounded receptacle.

* Do not expose to fire, open flame, hot objects,
cold temperatures, snow, ice, water, fluids, or
caustic materials.

* Do not operate with a damaged cord or plug.
Replace a damaged cord or plug immediately.

* Do not exceed the 12ZAmps maximum
cumulative load for all devices connected to the
power strip.

* Do not connect the power strip to another
power strip. The power strip must be connected
directly to a receptacle.

Electric shock can cause injury.

/\ WARNING

Risk of explosion.

* This equipment's components to be mounted at
least 460mm (18 inches) or more above the
floor.

* Do not expose to flammable liquids or vapors.
Flammable liquids or vapors can ignite.

* This unit should not be located in a confined, or
recessed area or below floor, garage or grade
level

Explosion or flame can cause personal injury.

/\ CAUTION

Risk of equipment damage.

* Do not attempt to or modify this unit in any
manner.

* Do not use near moving vehicles or moving
equipment / machinery.

* Do not use or position this unit under a vehicle
or vehicle lift.

* Do not use this unit for purposes other than as
designed.

* Do not pull on the AC power cable.

* Never use the cord to pull the power cable plug
from the AC receptacle. Grasp the plug and pull
it to disconnect.

* Protect the power cord from physical or
mechanical abuse, such as being twisted,
kinked, pinched, closed in a door, or walked
upon.

* Before each use, always inspect unit for
damage (cables, electrical. components,
casters, etc). Replace any worn or damaged
components before operating.

Improper equipment use can cause equipment
damage.



Instructions

Diagnostic Mobile Workcenter

Unpacking and Removing from
Pallet

1. Carefully remove all straps, cardboard, wrapping,

and packaging materials from the Diagnostic
Mobile Workcenter.

For shipping purposes the touch screen display is
placed in the rear apron area, and all other
components including the ZEUS+ diagnostic tool
are placed in the toolbox drawers.

Remove the touch screen display from the
workcenter and set it aside in a safe place.

Remove all components from the toolbox drawers
and set them aside in a safe place. Close and latch
the toolbox drawers.

_ Risk of Personal Injury

Do not lift the workcenter off the pallet. Using two
people and the ramp provided, carefully roll the
workcenter off the pallet.

Lifting heavy objects can cause personal injury.

Figure-1

Contents

* (1) Diagnostic Mobile Workcenter

¢ (1) Display Bracket
e (1) Display Tilt Bracket

® (1) Wireless Keyboard and Mouse Set
* (1) ZEUS™+ Diagnostic Tool and Docking Station

e (1) 27” Touch Screen Display

* (4) M4 X12mm Phillips Head Screws
* (8) M6 X12mm Phillips Head Screws

* (4) M6 Flat Washers
* (4) M4 Split Ring Washers
* (8) M6 Split Ring Washers

Dimensions / Weight
Base Width 25.75 in. (654 mm)
Base Depth 28.75in. (730 mm)

Height (Display Installed)

65 in. (165.1 cm)

Typical =

y "‘ h vr,
Packaging May Vary// \w e

Typical Pallet Ramp

Weight (with ZEUS+ Diagnostic
Tool)

190.21 Ibs. (86.278 kg)

Figure-2




Adjusting the Tray Height

The worktop tray may be adjusted to your height
preference. It is recommend that you adjust the tray
height BEFORE installing the display. SeeTray Height
Adjustment (optional) on page 3.

Display Installation

IMPORTANT INFORMATION

e Tighten all screws securely. Do not overtighten
threaded fasteners.

e To avoid damage, handle all components with care.

» Protect all surfaces during assembly to avoid
scratching or marring the finish.

e Additional display mounting screws may be
provided for different display manufacturers. Use
the applicable screws for the display provided with
your unit.

1. Locate the following parts included with your
workcenter:

— (1) Display Bracket

— (1) Display Tilt Bracket

— (1) 27" Touch Screen Display

— (4) M4 X 12mm Phillips Head Screws (display
bracket to display)

— (8) M6 X 12mm Phillips Head Screws (display
bracket to tilt bracket and tilt bracket to main mount)

— (4) M6 Flat Washers

— (4) M4 Split Ring Washers

— (8) M6 Split Ring Washers

2. Set the display down on a safe padded surface.

3. Attach the display bracket to the display using four
M4 x 12mm Phillips head screws and M4 split ring
washer as shown in Figure 3. NOTE: Multiple holes
are provided in the display bracket for universal
installation. Use the applicable mount position for
your application.

Figure-3
4. Attach the display tilt bracket to the display bracket
using four M6 x 12mm Phillips head screws. Install
M6 flat washer and M6 split ring washer on each

screw, split washers between screw and flat washer
as shown in Figure 4.

Figure-4
Remove the five Phillips head screws, and the rear
cover Figure 5. For clarity, component cables and
power supplies are not shown in the following

o

illustrations.
- _ —_1_.
_:_._ T — =
T T T -
1
LI}
1
[T e ;
v e T
1 | “‘_‘0
— ol 1
s L «

Figure-5
6. Carefully hang the display on the main mount as
shown in Figure 6.

Figure-6



7. Attach the display tilt bracket to the main mount 9. Connect the Power, HDMI and USB cables to the
using four M6 x 12mm Phillips head screws and M6 display (Figure 9).
split ring washer as shown in Figure 7. ;

Figure-9

10. Connect the display and diagnostic tool AC power
cables to the AC power strip.

11. Plug the AC power strip into a grounded
AC 120V/60Hz power supply outlet, then turn the
AC power strip on.

Figue? Tray Height Adjustment (optional)
8. Install the rear cover using the five Phillips head
screws removed prior (Figure 8). IMPORTANT INFORMATION

¢ Do not overtighten threaded fasteners.

e To avoid damage, handle all components with care.
e Protect all surfaces during assembly to avoid
scratching or marring the finish.

1. Remove all loose items from the tray.
2. Remove the touch screen display.

3. Remove the applicable protective caps from the
d workcenter side panels (Figure 10).

i 4. Using a4 mm hex wrench, loosen the four tray
mounting screws.

5. With the assistance of a helper to hold and support
g the tray, remove the screws and move the tray to
J the desired height.
]




6. Install and tighten the screws to secure the tray in 4. Remove the battery insulator strips from both the

the new position. mouse and keyboard, then turn them both on.
7. Install all protective caps that were removed. 5. Turn the display on, then turn the diagnostic tool on
8. Reinstall the touch screen display as described in and allow it to complete its boot up process.
Display Installation on page 2. Refer to the diagnostic tool User Manual for detailed

operation instructions.

o | Adjusting the Display Settings
o| (If Required)

The diagnostic tool display settings are preset from the
factory for use with the external display. Adjustment is

not required, however if needed use these instructions
to reset the display settings.

1. From the Windows® desktop taskbar, select the
Inte/® HD Graphic Icon (Figure 12), then select
Graphic Properties from the menu.

Figure-10
Figure-12

. . 2. Select Display (Figure 13).
Diagnostic Tool Setup

. . . Display
1. Install the battery pack into the diagnostic tool.

Refer to the diagnostic tool User Manual for detailed
instructions, visit:
http://diagnostics.snapon.com/usermanuals.

2. Place the diagnostic tool on the stand and connect
the USB-C cable from the USB hub to the tool. Figure-13

3. Remove the keyboard and mouse from their The Display Settings window opens (Figure 14).
packaging. Note: Refer to the installation
instructions provided with the keyboard and mouse

Intel® HD Graphics Control Panel

. . . . Display v Display Settings intel/
for detailed operating instructions. (U @
Select Display
Digital Television Acer T... v/
¥ Basic P Advanced
73 - B
Built-in Display Resolution )
o E
Select Profile i ]
g
R @
vo £ 180 270
scaling @

Center Image

V! Maintan Display Salng

—2

Figure-14

Figure-11



3. Select Digital Television from the Select Display
menu (Figure 15).

(© Display v

Select Display

‘ . Digital Television... v‘

Built-in Display

Figure-15

4. Select 1280 x 800 from the Resolution menu
(Figure 16).

Display Settings Color

¥ Basic P Advanced

‘ Resolution @

1280 x 800 W

Refresh Rate @

60p Hz v

Rotation @

vo ) 180 270

Scaling ©)

Center Image

v Maintain Display Scaling

Figure-16
5. Select 60p Hz from the Refresh Rate menu
(Figure 16).
6. Select Maintain Display Scaling (Figure 16).

7. Select Built in Display from the Select Display
menu (Figure 17).

Select Display

Digital Television... v

“‘ Digital Television

Figure-17
8. Select 1280 x 800 from the Resolution menu
(Figure 18).
9. Select 60p Hz from the Refresh Rate menu
(Figure 18).
10. Select Maintain Display Scaling (Figure 18).

Display Settings Color
v

W Basic P Advanced

‘ Resolution ©)

1280 x 800 v

Refresh Rate ®

60p Hz v

Rotation @

vo 90 180 270

Sczling @

Center Image

v Maintain Display Scaling

Figure-18
11. Select Apply from the lower toolbar (Figure 19).

Apply

Figure-19
12. Select “Yes”, to keep the settings (Figure 20).

Intel® HD Graphics Control Panel

The new settings have been applied. Do you want to keep these settings?

' .
The settings change will be reverted in 10 seconds.

Figure-20
13. Close the Display Settings window.






	Customer Care and Technical Assistance - Phone / E- mail
	Disclaimer of Warranties and Limitation of Liabilities
	Patent Information
	Copyright Information
	Blank Page


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


